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MERCHANT SHIPPING SECRETARIAT 

GOVERNMENT OF SRI LANKA 

CERTIFICATE OF COMPETENCY EXAMINATION 

 

GRADE : OFFICER IN CHARGE OF A NAVIGATIONAL WATCH ON SHIPS OF 500  

 GT OR MORE (UNLIMITED) 

SUBJECT : COASTAL NAVIGATION 

DATE  : 14.08.2023      Time : 0900 to 1200 hrs  

Time allowed THREE hours      Total marks : 160 

ANSWER ALL QUESTIONS     Pass marks : 70% 

Formulae and all intermediate steps taken in reaching your answer should be clearly shown. You 

may draw sketches wherever required. Electronic devices capable of storing and retrieving are not 

allowed. 

 

1) State the meaning of the following Admiralty Chart Abbreviations/symbols as illustrated 

in BA 5011: 

 

Question number Symbol 

a)  

 

b)  

 

c)  

 

d)  

 

e)  

 

(04 marks each) 
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2) Answer the following questions with regards to the chart provided: 

a) What is the IALA maritime Buoyage System Region used? 

b) What is the correction to be applied when plotting GPS positions on the chart? 

c) If the draught of the vessel is 16 m, what is the closest distance to the shore that the 

vessel can approach safely by using this chart alone in areas where largest scale charts 

are available? 

d) What is the scale of the chart? 

e) What is the chart to refer for routeing regulations, reporting requirements etc? 

(04 marks each) 

 

3) On 16th June, your vessel departs Dover and at 1030 hrs her position is 510 06’N, 0010 

25’E. She is bound for Cherbourg (490 40’N, 0010 40’W). Vessel draws 12.2 m and is 

capable of steaming at 18 Knots. She also equipped with the equipment required for her 

size and the type of the vessel.  

a) Plot the position at 1030 hrs. 

(05 marks) 

b) Draw up a passage plan from 1030 hrs position to the Cherbourg deep-sea pilot 

boarding ground giving due respect to international collision regulations, clearly 

giving the information as required by commonly used standards. 

(25 marks) 

c) Find the ETA at the destination without considering the effects of any winds or 

currents. 

(05 marks) 

d) With the aid of the following high/low water heights and times at Dover, find the set 

and the rate of the current at the tidal diamond “Q”.   

 

Time  Height (m) 

0006  6.5 

0733  1.1 

1223  6.7 

1955  1.0 

(10 marks) 

e) Cherbourg is in France. What are the publications to refer when entering French 

waters to identify the French regulations? 

(05 marks) 
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4) a)   Mark the following on a labeled sketch: 

i. Charted depth 

ii. Drying height 

iii. Elevation of a light house 

(02 marks each) 

b) Find the latest time on 12th May to pass under the London Bridge, England (51o 30’ 

N, 000o 05’ W) with an air draft of 28 m. Required to have a clearance of 3.5 m 

beneath the bridge for safe passing. At the highest tidal level for the day the air draft 

between the bridge and water level is 29 m. Assume that the vessel has ample under 

keel clearance throughout the day. 

(24 marks) 

 

5) A vessel steering a course of 0800 (T) at a speed of 18 knots, observed the bearing of the 

Lizard point light (490 57’N, 0050 10’W) as 0600 (T) at 0830 hrs. The same light bore 

3250 (T) at 0930 hrs. If a known current was setting 1200 (T) at a rate of 3 knots, find, 

a) The position at 0930 hrs 

(20 marks) 

b) The position at 0830 hrs 

(05 marks) 

c) If the true course to steer from 0930 hrs is 0750 (T), calculate the course to steer from 

0930 hrs counteracting the above current. 

(15 marks) 
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Answers 

 

Answer 1 

 

Question 

number 

Symbol Answers  

a)  

 

Submarine cable 

b)  

 

Depth contour with 100 m 

depth 

c)  

 

Rock with 25 m depth. 

Name of the rock is Owen 

rock 

d)  

 

Yellow colour pilar buoy 

with a yellow flash 

e)  

 

Deep water route 

 

 

 

 

Answer 2 

 

a) IALA Region A 

b) Latitude – no corrections. Longitudes to be moved 0.1 minutes Eastward 

c) 06 nautical miles 

d) 1:500 000 

e) BA 5500 

 

Answer – 4(b) 

 

Total air draught required = 3.5 + 28 = 31.5 m 

Elevation of the bridge from the highest tide for the day = 29 m 

The highest tide for the day = 6.2 m 

Therefore, height between bridge and the chart datum =29 + 6.2 = 35.2 m 

Therefore, the highest tide that the vessel can sail = 35.2 – 31.5 = 3.7 m 
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A tide of 3.7 m occurs at 2340 hrs. 

 

Therefore, the latest time the vessel may sail is 2400 hrs. 

 

Answer 5 

 

a) 490 50.5’ N, 0050 04.2’ W 

b) 490 48.6’ N, 0050 36’ W 

c) 0670 (T) 


